P AE




AFRE

: AT E?
D A A B AR A AW B AR
L A A 2 o R F] R

Lﬁ\' Ltr\' Lﬁ\'




il

7l

HBIEE P A RRE S

& oA it R B R R Rk A R R
@>=5) &&(a<=10); p|l!q

RGP A R R
REARRENEHEE

(“ Yuan Yao” OR “#k i) AND “Computer Science” AND (NOT
“Female”)

HRBER
5, A3, Conjunction (AND) (A, &, -)
B, B, Disjunction (OR) (V)
g, HF, Negation (NOT) (=, ~, -)



B 4

(Y =2
EHRFE, ZEEEARFENMYAETWAKAER
HEE AU oy B

ZERAT LT

F R AT 5 #3iE

#8573 AN B R 000 AR
ZHUEBRRR/E. BEX



B 4

PEROEEEPRNEETLL:
RF At
F: B8, RETLER
A e I
MR UpRR “MEEL” , akr TWEKR
HHE: p—0
¥%F: —p>-q (FHe: gop)




O roposition) & L[ X, — %A
ﬁﬁsé%p t 7= T ik E# € o

‘Rl ERER—EFNER
SRHI—MREI, XA
AERE AR




A

738 ¥ DA B AR Y bR A
H BT 58 F 2R N A
B T T
KU LEFAT
AREERE
FReRFEEG?
3-x=5
KA+ !
H—REBRNEHE — 2T URTHENE FHZH,
f 2N % I A T
“RAENNERIE, T

X X <X %X %X < < <



IS ET

=
o AR R W R e R AT,
GEBH/L WA ST LREAGERE. AFRE. ATE

OB o BW K (TUAEERB) f2 2 88

REZ, GEETUANIN R LNAEE. B ool 2R % HEE0EEE
MR TELEBEERNGANANETFRE. 5 A H,

pAEE A EEEENLE. URXT AW 2, o AT, AL

1 AW A AL E R A A Fo MNRENEX LR, &

B 0 iy 2L o

7 A 2, #AZHEEZ N , 78 ¥ DL PA

SeRTamAMRARE "0 T AR, UARFEEA
REME “FE W—FERAX LA .


https://zh.wikipedia.org/wiki/%E9%80%BB%E8%BE%91%E5%AD%A6
https://zh.wikipedia.org/wiki/%E9%9B%B6%E9%98%B6%E9%80%BB%E8%BE%91
https://zh.wikipedia.org/wiki/%E5%91%BD%E9%A2%98
https://zh.wikipedia.org/wiki/%E5%91%BD%E9%A2%98
https://zh.wikipedia.org/wiki/%E5%91%BD%E9%A2%98
https://zh.wikipedia.org/wiki/%E4%B8%80%E9%98%B6%E9%80%BB%E8%BE%91
https://zh.wikipedia.org/wiki/%E8%B0%93%E8%AF%8D
https://zh.wikipedia.org/wiki/%E9%87%8F%E8%AF%8D
https://zh.wikipedia.org/wiki/%E4%B8%80%E9%98%B6%E9%80%BB%E8%BE%91
https://zh.wikipedia.org/wiki/%E9%AB%98%E9%98%B6%E9%80%BB%E8%BE%91
https://zh.wikipedia.org/wiki/%E4%B8%80%E9%98%B6%E9%80%BB%E8%BE%91
https://zh.wikipedia.org/wiki/%E9%AB%98%E9%98%B6%E9%80%BB%E8%BE%91
https://zh.wikipedia.org/wiki/%E9%82%8F%E8%BC%AF
https://zh.wikipedia.org/wiki/%E6%95%B8%E5%AD%B8
https://zh.wikipedia.org/wiki/%E5%BD%A2%E5%BC%8F%E7%B3%BB%E7%B5%B1
https://zh.wikipedia.org/wiki/%E9%82%8F%E8%BC%AF%E9%81%8B%E7%AE%97%E7%AC%A6
https://zh.wikipedia.org/wiki/%E5%91%BD%E9%A2%98%E5%85%AC%E5%BC%8F

AR TL

AR ARFANKE
¥RNEFHRT, W p,q,r
AT WIEREY: (T,
p: & RXEE N (p=F)

q:2+2=4 (q=T)

FA))




R ¥ A am

B EE PR
B oH

FESNEETW.

9:

KESIWHE=HF4E.

KR ZLIEARELEA

WHE2+3=6, NnRAEHK,
V3EREHL AR YA TFEN.
S EmmaEm NERR T EAREBS I FaSNE

f&

UL FER] K18 X



£ R EEW

~p/ —p: dEp

P —P

F T

/ T F I EAER

pHT A AT e R BUE




R

P a P9 PAQ=T Iff p
g3 NT
F F F MaBH
F T F
T F F
\T T/ T

<p,0> A A Al e 1 HUE



AT B

pva=F Iff both
pva: “p Bk 97 p and q ¥ NF

—I—IT|>\13
T
P

— T -
— = = ™

<p,q> Fr A A REH HUE



(i

SRA—, FEF—R
A1 — 0 1 K
AR — 4 85 2 R

EANRE TR WRRBESORK, ¥R
ZEE

BE AT




% W E

. _d

14|

p—q : “IIE p N g”

p g p—q
FF T
FoT T
T F F
T T T

p—q =F iff

PATIIAF



532

p—>q: “F&Fp, W9 (FHiEH)

BARE, RU/RAELRF/ESL UL
“B/RT o> “FREFHBHULT
ELE8BLUL, BREK

FeTE xR, REMTIEL (—p BdEq)
BARMEEL, A®EIT (=g—>—p)
o> MEEL (p—>q)

wRpllg. REpllg. pXEU/RAFa. —pFriEq



P& R X

p(_)q . “p%‘ﬁa% q »»

D g DEoq pog NE: ZWEp g
A B AR EAE

p>q5 (p—>a)A(G—p)
A F P EAE

— — T T
— T - T
— T T —




R

AR )

ez A (AEY

ARG A W% e X
R TU = R R 3
AARRARER, U (TA) BEGERERN.

aATBE el xA N, U (AAB), (AVB), (A—B), (A©B)
H R mARE .

RARRKMH ER AN KT 84 RagE o

Bl ¥

(PPN (gD, p> (gD R RURIE A
PG, POINGER Z R RUR A R o

ﬁﬁﬁ%'ﬁt%é& N, V, ™, &




¥ 8 RE T BF R AR A

RAREGITHENMERLZHE AT UARE
P 3 7] B 4 Y.

a: YR DA AR B B 37 1] B A

C: IR EBITHAMF

f: IR 2 &

a— (cv—);




BB AT T B R A RERE R

fRAE Rk L6 %, &N R BT & RATE R BT '
FIRATI AR

q: REERBATHR R E
I 'f;y\% ‘::J Z:E4%R
S % 16)8 ¥

—$— (r- —q)

(—8AN)—> —, ...



2 48

REBRA: —NEBEM—ALBZREER, HLEHF
ETRE. BEAMNEFNE THB L. KFH HRMNL
EL>R—MABLEAR « KEMETF R fRFLLE
REHE? 7 HT W, FT 20 E A

p: BERBLEETR
g: ZERFLEFTR
pvg A E




% A

A A By C3IAA, P CHEET R SAASHE—NEBF, BTHG.
ZoA, B RN e, 3AAKMERNLE Tk LHGIEF, ALFEEB A
C, ALFEHZATHFMHLAAE; BAAAMC, LKA T K ERT
e ; XE C Mg A TR FOME T, alF: CHMREFEMALAE? 17

R F AT IE I, IR LR E A .



AFRE

IR . 4 = R D
: ‘?fﬁ‘;@%zﬁﬁﬁﬁﬁ B | B
Bl A2 AT A BT e R A A K R?

6] B3 qnAe A 2 A R H i 2




ﬁﬂ‘ﬁﬁ%hﬁﬁ%
RIEA: (PAQ)>—T

p 4—r | —p —PAQ - (—PAQ)>—
OMQ\ 0 1 1
001 \5F\f@%¢ﬁm~ﬁJ 1
01_0\ 1 L“&E%%” 1
011 1 1 0 0
100 0 0 1 1
1m/o 0 0 1
110 0 0 1 1
H/O 0 0 1
\xi%ﬁ%ﬁ%% LA MATATEIK



KER FEAGH R

KER (EER) : IARRINRERFR
(P> QO (~go>~p NAEEWpgEH H1, IAKER.
FEA: IARKREN RBIEIR
pATp TERWPEH K0, X FER.
Rk R [ B AR Ak AR R R A Tk
(P—>a)A(pva):
REFIK: (p,a)=(1,1)or(0,1)
ABEFE K : (p.g) = (1,0) or (0,0)




B4 44

O pfrg BEH: ZETA 8 G ILT phe g A 48 6 B E A8
s R EN, pOgEKER. ILH: p=gq
= Bl: (peq) = ((p—>9)A(G—p))

(pq) < ((P—A(g—p)) HAEZE:

p a | pog | gop | (poaaop) | Ped| (peq) « ((p—9)A(G—p))

1 1

 —, O O

1
0
1
1

_, O O

0 1
1 1 0 1
0 0 0 1
1 1 1 1




SR

FH)

v

S

mER
RGAf
ZeR

oA

B

RELERE| p=—p

P=PV P,P=pPAP
PVq= QVp, PAG= GNP
(pvgvr= pv(qvy)
(pAgQAr= pA(ghy)
pV(gry =(pvn(pva)
gV =(prg)v(pAg)

1 EAR AR T(pvg) =TpATg

T(pAg) = Tpvg
pV(pAg =p
pApVg =p




1 By % 4

FME

& Jaid
X W pVNT=T, pAF=F
EF& pvF=p, pAT=p

HeRE N
\TEE

pvp=T
pAp=F
pP>9="pVvg
PO9=p>gNg— p)
pOg=(@PAgVv(TpATg)

(C&-F b p>9=Tg>Tp
pOg=T1gSTp
ZE 87 (2gN(p>7g) =Tp




ZHRFNWH R

(P> FpA—Q R B E HEFN?
—(p—0) = «(-pva)
=P A
= pA—
pAQ —> PVOE &K E?
pAQ — pvq = —(PAQ) v (pva)
= (v —9) v (pva)
= pvpv—gvg=T




AFRE

IR 2 &R 3
- SRR < WA BT
FIRE2: An ] A BT R R A AW K R?
- RERGEZHEEMN

7] RE3 2 e A o R g 2




BT HENHATHRE

L

We know that Bill, Jim and Sam are from Boston,
Chicago and Detroit, respectively. Each of following
sentence Is half right and half wrong:

Bill is from Boston, and Jim is from Chicago.

Sam Is from Boston, and Bill is from Chicago.
Jim Is from Boston, and Bill is from Detroit.

Tell the truth about their home town.
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- We set :
P1 = Bill is from Boston Fommmmmmmmm oo,
P2 = Jim is from Chicago. Bii Ej :2 E:::
P3 = Sam Is from Boston 0,A P, is False
P4 = Bill is from Chicago. PoA Ps is False
P5 = Jim is from Boston
P6 = Bill is from Detroit. ittt

1 S0, We have:
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(~P1ARAPZA~ PLA((PsA~PE)V (~PsAPs))
= (~P1APLAPA~ PsA~PsARg) BT E

So, Jim is from Chicago, Sam is from Boston, and Bill is from
Detroit.
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